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B B2 g 9 e B o 0
KPR BB S (ZE-EFE )

S8 22 il PR & R S FaRE
b (B/5)

B i [ 6-10 6.9-7.5 7.1 =
HAEE (mg/) 100 53-64 59 2
BV 48 &= (mg/) 10 <2 ) =
WM& E (ng/) 2,000 690 - 710 700 =
WAL 4 E  (mg/) 10 <0.5 <0.5 =
FLYEEE (mg/)) 0.1 <0.04 <0.04 =
RO EIRREE (me/) 100 <15 <15 =
HAE  (mg/h) 20 <10 <10 =
MreegE  (me/) 0.5 <0.3 <0.3 =
Rer R E (mg/) 1 <0.6 <0.6 =
FHEMER (mg/) 15 <7 <7 =
LEBEE (m) 2000 | 489-780 635 2
AR E (me/) 200 21-24 23 =2
i E (0 43 21-22 21 =
T % V8 (me/lh) # ; _ ]
FEESB

f - (me/l) 2 <0.4 <0.4 =
#H (mg/l) 5 <1.0 <1.0 =2
8 (mg/l) 0.1 <0.1 <0.1 =
¥ (mg/) 1 <0.3 <0.3 =
i1 (mg/l) 2 <0.5 <0.5 =
i (mg/D) 2 <1 <1 =
Bh (mg/l) 5 <0.2 <0.2 =
7K (mg/l) 0.05 <0.05 <0.05 Lk
# (mg/D) 2 <1 <1 =
PR (mg/D) 2 <0.4 <0.4 =
# (mg/l) 5 <1 <1 =
$¥  (mg/D) 2 <1 <1 =
HE 2B EH## (mg/) 10 <7.0 <7.0 2
B (mg) 5 1.1-12 1.2 =
#  (mg/l) 10 <2 <2 I




28 172 i PR G B 38 FEiRE
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e &k
Aldrin (mg/l) 0.01 <0.01 <0.01 =
BHCS (mg/l) 0.01 <0.01 <0.01 =
AL LNE (mgl) 0.01 <0.01 <0.01 s
FEZELEEY
KT (mg/l) 0.1 <0.06 <0.06 s
EEMiEeyw
1,1,1- = & 2 5% (mg/) 0.05 <0.025 <0.025 s
LEBE -
% & K 48 & (mg/) 0.003 <0.003 <0.003 s
B MY E #
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B B2 g 9 e B o 0
R REREZRBERSE (ZE—-CFE_H)

3 PE IR &R Sk FERE
FEm ) © (B/T)

() =+5rgEpsE @
ffkr  (kg/0.5h) 0.58 0.00 - 0.01 0.00 =
“ &AL (kg/0.5h) 3.86 0.00 - 1.75 0.13 =
B % (kg/0.5h) 1.16 0.00 - 0.17 0.02 =
#ALE (ke/0.5h) 0.08 0.00 - 0.00 0.00 =
A1y
(L= & 16 & 5 &) 771 0.74 - 3.20 1.58 &
(kg/0.5h)
445 MR (kg/0.5h) 0.39 0.00 - 0.05 0.00 yis
— &b 5% (kg/0.5h) 1.93 0.00 - 1.16 0.08 s
(z) B39 ©
it (kg/day) 9.25 0.03-0.13 0.07 =
“EAEW (ke/day) 46.27 1.54 - 12.99 6.20 =
Bl (kg/day) 9.25 0.11-1.72 0.80 =
@M (ke/day) 0.93 0.00 - 0.00 0.00 =
A1y
(L= & 16 & 5 &) 185.06 62.87 - 87.09 75.61 yiss
(kg/day)
daH %R (kg/day) 9.25 0.06 - 0.20 0.12 yis
— & L% (kg/day) 46.27 2.57 - 4.76 3.57 s
()  HAth

3 PE IR G R FERE

(HEm %) ® (B/T)

= = PN
3“%?%? ) (ke/h) 0.93 0.02 =
BEELEY
(ME\ b= & & H) 0.73 <0.004 =
(kg/h)
M F (DAWR 2 51 &) (ke/h) 1.45 0.09 s
kAR R (LA R (ke/h) 0.21 <0.006 =
B RGEAEE (kg/h) 0.19 <0.005 s
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AH S8
E0E G E)NE R
ﬁgﬁ)ﬁ%(% ROWEE | (01 <0.0003 =
FESBE R ©:
Rl (ke/h) 0.0023 <0.0001 =
BB B Nes
ﬁgﬁf%(% SOUEE 0.019 <0.0026 =
% (ke/h) 0.0019 <0.0001 =
T IEH (ng/h) 2,891 60.4 =
=E:
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28 22 ) IR &R S8 FERE
(B/E®)
F—E o
8
e hes _ =
% tig FE (7K) (1 R ) 12-12.6 12.5 yiss
30
A=Ay % - - . =
EBEsE :
#% (ppm) 0.5 <0.5 <0.5 yass
7K (ppm) 0.1 <0.02 <0.02 yiea
A E (ppm) 10 <0.5 <0.5 yass
#i  (ppm) <0.50 - 0.85 0.50 -
# (ppm) <0.5 <0.5 -
55 (ppm) <1 <1 -
¥ (ppm) <0.50 - 0.51 0.50 -
o~ 58~ 8 P -
W8 (ppm) 25 <25-29 2.5 E
# (ppm) 20 <1 <1 v
ALY (ppm) 10 <5 <5 yea
RS (ppm) 10 <2.0-33 2.1 =
#FAEY (ppm) 5 <5 <5 yoea
R
= g% 4 PN
?j?’x B Y & 5,000 <15 <1 9
= (ppm)
A s “a
ARERRE 10 <5.0-72 5.1 2
(ppm)
KX & = -
(ppm) 2 <2 <2 =
% &2 (ppm) 1 <1 <1 =
TCDD (ITEF %) =
(ppb) 1 <1 <1 =
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